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Question I:

Choose the correct answer, then fill in the table above:

a1 Q2 Qg3 2a3; 2a3; 2asz;z
(D) IfA=|az1 az; az3landB=|az; az; a3 |, thenthey have the same
az; Qz; Qass aj; Q2 asz
(a) row vectors (b) row space (c) column vectors (d) None of the previous

(2) Let S = { x3,4x%,x — 1,3x,—2}be a subset of P; then S is
(a) Linearly independent but does not spanP3(b) Spans P5 but is not linearly independent

(c) a basis for P53 (d) None of the previous

(3) Which of the following are subspace of R3
(a)all vectors of the form (2a,a + c¢,c) (b)all vectors of the form (a,1,1)

(c)all vectors of the form (a, b, a — 1) (d) None of the previous

(4) The coordinate vector of u = (1, 4) relative to the basis v = (1,1)and
V) = (1, 0) is

(@) (4,-2) (b) (4,-3) (©) (1,-3) (d) None of the previous



(5) LetB = thenrank of B =

coRrR
con
CC,PQ
coRrR

1
0
0
0

(a)2 (b)3 ()4 (d) None of the previous

(6) Let M5, be the space of all 5 X 6 matrices then the number of vectors in
any basis of Mg,is

()11 (b)30 (o1 (d) None of the previous

Question 11:

Find a basis and the dimension of the solution space of the homogeneous system
x+y+2z+w=0
—-x—2y+3z+2w=20



Question 111: If B ={(2,1,1),(2,-1,1),(1,2,1)}
and B' = {(3,1,-5),(1,1,-3), (-1, 0,2)}are bases for R3, then find the transition

matrix B to B'.



Question 1V:

1 2 0 2 5

Find a basis for the row space of the matrix A = -2 -5 1 -1 - consisting
0 -3 3 4 1
3 6 0 -7 2

entirely of row vectors from A.



Question V:
(a) Show that § = {(1,2,1),(3,3,4),(2,9,0)} is a basis for R3
(b) If v = (4,—1,2) € R3. Then find (v)s.

() If (w)g=1(2,0,5)thenfindu .



